A -k 2016/6/2 TR Vel HER
Bt SRR 284F B IR T - SR AR A e R R4y
Xs 2 B E AT AR BB FLER AT R
FAE R IR T AR R AR R 2 b 44
Bff | ®&H L PATA 3hr 447 50f 6/iL ThL 8L
. MO T 5546|285 &4 56.823% & Dz 1:00.05|{Fk EBE 1:00.59| 1138 BhE 1:00.98|18:F &KX 1:01.68[#H% [E 1:05.04|8E8 % 1:07.71
@B+ [6H1H]| 400m
AR-ERH TIR|ER-BRILH AER-ART ER-BREH HER-WEH ER-ART AR WWEH HR-ILEH
628 | 800m 23293 2:07.54|880 T4 2:09.30| 28 &5 2:0955| 2% & 2:22. 49|1EAR B=A 2:23.71|=m@ % 2260|128 A5 2:31.91|%)11 FEA 2:36.51
AR-ARIH TIR|ER -ERF TR|ER-ERdd TIR|ER-BFH AR-ERH AER-BERH AER-EBEFH AR-ARTH
618 | 1500m BIE BER 4:30.16[&0 = 441.44|5R & 4:4621|%E =8 449718 —18 4:51.32| % 3 452 12| EBIN BERE 4:5458|%5H Bx 4-56.40
AER-ARIF ER-LWEH AR-ART AR-ARH HER-LWEH HER-WWEH AR-ARF ER-ARIP
6120 | 3000m D = 10:05.01|&5F & 10:14.77|% & =8 10:27.51|%& E 10:31.37|%7 8% 3 10:35.04|i%:8 —#8 10:35.05| 451 #X 10:38.82| &Il BERL 10:40.68
AR-WEF AR -ARH AR-ARH AER-ARdP HER-WEH HR-WWEH AR -ARIF AER-ARG
6H1E lomH |53 £k 19.17
-2.2 |ER-WESF
AR-ARIH 4924| R -BFF 50.16| HR-ILEF 51.87
% &k IhiE il
6H2H | 4x100mR |i5Z:8 K&§ HEF BX AR ML
HE BER Pk EBE ED £
28 BN Ml K¥8 2 kth
6810 | il ok 4.97 (+1.8)|HHEF BEX 495 (+1.6)|2 kth 4.79 (+1.0)|{REE MEF 4.60 (+1.6)|FIER 1EA 447 (H1.6)|iEFH B} 433 (HDEH A 4.08 (+1.2)|1Ri%E RE 4.03 (+0.6)
HR-ILEH ER-BEH HER-ILESF AR-AERG HER-WWEH HER-WWEH R WWEH AR-ARH
6r20 | ms #ik BE 6.25
ER-BREG
vest leain| 100m Rk RIE 13.75 (+1.3)|iE8 BA 14.82 (+1.3)|1# @ Rk 14.92 (F13)|IEK #FE 15.39 (+1.3)|BEA MEA 16.12 +1.3)|BEs % 16.39 (+1.3)
AR-ERH HR-WWEH ER-ART HR-ILEH AR-BEH ER-BEH
620 | 200m B e w29.18 (+4.1)| Nk At w29.24 (+4.1)|fBA EE w29.75 (+4.1)[ARER K w33.08 (+4.1)|BA MEA w33.89 (+4.1)
AR-ERH AR -ART ER-ARIH ER-BRH ER-BEH
610 | 1500m [0 B 45431% % E 454.66|15% KI5 5:08.66| )1l & 5:18.50|MNfE 1A+ 5:56.15| G )11 % 6:01.74
AR-EBEEH TR|ER-ERIH TR|AER-BFH AR-ARH AR-ARH B IE G
wen7 |enin| 100m M T 1257 (+0.8)|&B#E =N 12.82 (+0.8)| Tk # 12.86 (+0.8)| 1A% EK 12.91 (+0.8)|IIi#8 BhE 13.04 (+0.8)|5#H Hth 13.60 (+0.8)|B8iR K& 13.70 (+0.8)
AR-ARIH AR LWEH AR-WLWEH AR-BEH AR WLWEH AR-WWEH AR-WEH
620 | 2oom |PW T w25.59 (+3.2)| TBR & w26.35 (+3.2)[FE D2 w6.80 (+32)|{kRE EE w27.69 (+3.2)| 7 WS w27.88 (+3.2)
AR-ARIH AR-WEH AR-ARH AR-LUEH AR-ARH
sent leata| 1oom i KiE 12.68 (+1.3)| AR ME3L 12.78 (HM.3)|EHE $hiE 12.88 (+1.3)|imE K& 12.92 (+1.3)[#& 121 13.18 (H1.3)|;EED {870 1345 (+1.3)|5H Hih 13.76 (+1.3)|iK % N 13.93 (+1.3)
ER-BFEG HER-WWEH ER-BEG AR-ARAP AR -ARAH Bl PTE RS R WWEH AR-ARH
6H28 | 200m i Kig w25.68 (+3.8)|i5E K w26.02 (+3.8)|{kik #hiE w26.20 (+3.8)|BEA MEs; w26.24 (+3.8)|1EiE K w26.29 (+3.8)|#5 1= w27.08 (+3.8)|5E2p 4N w2775 (+38)| % Heqr w2801 (+3.8)
AER-BFEG AR -ARdH ER-BEG HR-ILEH AR -ARH AR -ARdH BE-FIERHAS AR-ERH
AR-ARF 59.35
Rk M
IKZA4EB | 620 | 4x100mR |{FiE R4G
gk wEt
Nl FA
w (wind assist) : IBJEE %
TJR : 15 4Rk
TJR : 183 14FERedRZ A
TIR : JlfE34F Rk
TIR : 3W1E 35 FLak A A
TIR : @5 24FF0 %
TIR : (@5 2550k A
TJR : 185 LmFi ek
TJR : 1815 ety A
TIR : 815 it
TJR : iBfF @Ry A




B H -k 2016/6/2 FHE Ve AR
B4 SRR 284 FL IR T « B AR R A e B Ry
iXs 2 PR T A AREE LSS gk E ]
T R4 TSR T A R AR R R AR B 2 b 44
H £+ fH 1hr 20 3L A 5L 6L 0L 8L
skt | 61 800m &H B8 2:32.67|1Rk I 2:32.82|Mik HEE 2:38.27|%k K*E 2:38.86|F i #fE 2:40.55|E 3 HA1N0 2:4158|FHME TX 2:52.22|1kk BB 2:57.94
AR -ART AR -ARdLh AR-ARG AER-ART ER-ARH ER-ARIH ER-ARIF AR WWEH
6H2H | 1500m R = 5:11.90| B3+ 4fin 5:20.65\ K% WE 5:28.84|FH 5:32.41|33# #WTE 5:30.82|FMA Tk 5:42.64|3%F# #B 5:50.54
AR-ARIF ER-ARIH AR-ARG AR-ART AR-ART ER-ARIH HR-ILWEH
6H2H 100mH mk BF wi17.00 (+35)|FE WE w20.17 (+3.5)|iE:2 HH w20.83 (+35)|88 K EiE w22.02 (+3.5)
ER-BEH ER-BEH AER-BFEH AR-ART
AER-ARF 55.02| AR -BEH 56.85| AR - AR 58.10| AR -l EH 1:01.86
HE BE AE BE £k B fHE HIE
6H2H | 4x100mR |fEfE e HE Bk B8Nl <> il mE
EHH B ik EE ME K i RE
Tk AE k% BE HH & ik HE
6pon | e [ R 119
AR -ARIH
o2 | i HE Bk 426 (+0.1)| Rt <BHE 415 H1.0)|RAN ExE wa 11 (2|l BE w3.94 (+2.5)|E#E KE w3.92 (+2.4)|# BE 3.90 (+1.3)| ¥ #HF w3.64 (+2.3)|E %z 3.48 (+1.2)
AR -EBEET AR-WWEF s -FERASD AR-WEF AR-ARF AR-WUEF AR-AERH AR-ARF
onin | m =i FHEE 473
ER-BEH
6520 e =i FHE 14.06
ER-BEH
6/1~6/2 | MUFEREEL ik B 1265
ER-BEH
641H | 100mH 22.66 (-2.5)
6H1H A mpk 1.31
6H2H R 6.95
6H2H 200m 31.30
ekt | eA1H L00m £ W w1452 (F2.4)|F) F&E w14.55 (+2.4)| 8% &3 wi14.96 (+2.4)|{F5E #1138 wi14.97 (+2.4)|F:8 3K w15.06 (+2.4)|& % kM w1553 (+2.4)|18:8 2=k wi15.72 (+2.4)EE RN w16.00 (+2.4)
AR-ERIH AR-LEH AR-LUEF AR-ARH AR-ERIeG AR-ERIeG AR-ARH AR-EBEEH
65120 500m &% 1R w30.35 (+2.6)|{Fi%E Fiid w30.89 (+2.6)|mIiE 3K w31.13 (+2.6)| KiI EH w32.32 (+2.6)
AR-ARIF AR-ARF AR-ARIH AR-ARF
6q1n | soom X% PZ 2:42.25| K7L RE 24254 BR BE 25153|AE LAE 301.47|mE B 3.02.46
AR ART ER-ARH AR-BEH ER-ART HER-WWEH
oteier | 6A1R 100m ik BE w1412 (+2.2)| B B w1431 (+22)|1kRE #F wl4.41 (+2.2)|FR bofE wi449 (+2.2)[HHE HTE w15.27 (+2.2)
ER-EBEH ER-BEH AR LEH AR-ART HER-WLEH
6A2H 200m g B 29.99 (+1.8)[FF# B571E 30.75 (+1.8)
AR -ART AR-ART
st | en1m L00m i e wi13.05 (+2.7)|# Il ThEE w1405 (+2.7)|5#% &Hix wi430 F2.7)|it)Il BEE wid99 G2 D[RS <UL wi5.23 (+2.7)
AR -ARH HR-WLEH AR-ARG HR-WLEH AR-ARIH
M M w26.99 (+2.3)[#1)1l TvEE w29.49 (+2.3)[;EE HE w30.34 (+2.3)
6H2H 200m
AR -ART HER-WWEH AR-ARG
AR-ERIF 1:05.60
=F R
IESAEL | 620 | 4x100mR [ BB
Pk BT
RE EK

w (wind assist) : 3
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